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The Chicago Tribune

435
No. Michigan Avenue

Chicago, IL 60611

Dear Ann Landers:

You really shouldn't fall for that tired, simpleton logic of "Baltimore Betty": that because the male’s sperm provides the Y chromosome needed to make a boy, the male determines whether the offspring will be a boy or a girl! Ordinarily, the male ejaculate contains roughly equal numbers of sperm bearing X or Y chromosomes ‑‑ tens of millions of each. But the male is unable to choose which sperm will accomplish the fertilization. Likewise, the female cannot deliberately choose an  X‑bearing or Y‑bearing sperm for this crucial action. But the probability of fertilization with a sperm bearing either an X or Y chromosome may be altered by the anatomic, chemical and physiological nature of her generative tract: e.g. greater or lesser acidity,  viscosity, or temperature of her fluids; over which the male has no control. By analogy, if a man offers a woman a basket containing equal numbers of oranges and apples, and she chooses an apple, who most decisively determines which fruit is eaten?

Sincerely,

R.T. Ravenholt, MD

PS I do most heartily applaud you for your strong stance against cigarette smoking during many years! Enclosed are several articles on smoking which may interest you ‑ Especially, I urge you to consider my suggestion: that we enlist and reward minors for helping apprehend and discipline rogue cigarette purveyors.

Also, please do popularize the tern "Tobaccosis", to indicate all diseases caused by tobacco ‑‑ analogous to the use of tuberculosis, asbestosis and silicosis.

